<3 @> (rad)
o
=
(6)]

o
[N

o
i

.................................................

E O R AR AR AL ALRRREREL
-0.1~ N
E VL ETTEEET LR SUTRRRPTIRNE CIRRTCIRIRUIRRTLIR
-0.15- L
om0 bl i v 0=0.3 b el
A I 8 |
[0 e 12 r
E 0.5 m e
R R LR [
O:71 2 - 3 G-71 : 2 .
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPp_ (PCA tloobeamllnef)
— g M %lf( lllltldlgrgle IE{(J).;-UJB)\S]LLU gdmu;u
T poM- sq ests 2B 101000 3a§
—— DOQM™pix p ate_step2 1 01 00_eta2p0Oto2p5
A 20 o [ ]
2 Q|
A 10 N B
= < X
2o} L o A
IV v ~20f

Ratio

<op/p, > (%)

107 1

I2 3
- (PCA t%)obeamlin%)o

|
N
o

|
D
o

o :
107 1

2 3
TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


